1. Question: Choose the correct alternative to complete the sentence? 'He ---- to see us if
he had been able to.’

A) would come

B) may come

C) may have come
D) would have come

Answer: D) would have come

Explanation: « 1§99 If & clause fG past perfect 2 3115 clause f would have + V3 231 « He
would have come to see us if he had been able to do.

2. Question: Choose the appropriate alternative to complete the sentence. 'He had a---of
fever.'

A) strong attack
B) bad attack

C) serious kind
D) severe attack

Answer: D) severe attack

Explanation: Severe - English Meaning: causing very great pain, difficulty, worry, damage, etc.;
very serious: Bangla Meaning: ST, FOF| MNHFTS AT 3 (@NSTT JATF ERIE) Tafb FITe
23| He had a severe attack of fever - (57 763 {EF A& 27|

3. Question: Choose the correct sentence.

A) | asked Javed had he passed

B) | asked Javed that had he passed

C) | asked Javed if you had passed

D) | asked Javed if he had passed

Answer: D) | asked Javed if he had passed

Explanation: 321, If - 'fFaT i 950 T@®| T A - AN ST ST FIAH (7 NS
FE® 7|

4. Question: Choose the correct sentence.



A) A few of the three boys got a prize
B) All of the three boys got a prize

C) Every of the three boys got a prize
D) Each of the three boys got a prize

Answer: D) Each of the three boys got a prize

Explanation: - (171 IS Each of the, one of the, neither of the, either of the YTH(T AT 9
noun (plural) f$& verb (singular) 933 possessive (singular) 23| - a prize 47 Y Wil (T a few
of / all of 97 I AVF| - Every of 97 TIF IBT| B2 I NfdF I [ - Each of the three
boys got a prize.

5. Question: Choose the correct sentence.

A) The man that said that was a fool
B) The man which said that was a fool
C) The man that said that was a fool
D) The man who said that was a fool

Answer: D) The man who said that was a fool
Explanation: Who a3 51 ST verb ST 51 whom A9 T SIIGT noun 7 pronoun. 568

noun a9 relative pronoun form R ©12 94T who F9%® 2| SEEIN 5If3F % 7@, The man
who said that was a fool.

6. Question: Choose the correct answer. How long did you wait?

A) Till lunch time.

B) Since this morning.
C) Until six o'clock.

D) Till he came.

Answer: C) Until six o'clock.
Explanation: How long did you wait? 93T =9fG past form 4 $871 2@®| (7 f20F $6a63 past

form 4 Fa© 3F| TIGT Ted 98T FAT IF - | waited until / till he came

7. Question: What will be the correct preposition to complete the sentence? 'l am not
bad-tennis’.



A)in

B) with
C) about
D) at

Answer: D) at

Explanation: "Sel/am% el JAe = W at 5920 :F | (IFF- good at, bad at etc

8. Question: What is the antonym of 'Gentle'?

A) Harsh
B) Modest
C) Clever
D) Rude

Answer: A) Harsh

Explanation: IR AFTSH ATSH A, Gentle - SN, &, 77, *1S; o, ©ul Rude - Irey;
IS; F; S MTS| Harsh - F5; FF; FOIF; a1 Claver - 5T, 5@F; W¥1 Modest - 3w
e, [ERFE: Gentle a7 [ATRRF 7= RF Rude % &y |

9. Question: What is the synonym of 'Jovial'?

A) Jolly

B) Gay

C) Jealous
D) Happy

Answer: A) Jolly

Explanation: Meaning: Jovial- S, Ss%d Jolly - S35 Gay - S3%d Jealous - f¥ifae
Happy-5&T Jolly and Gay 3612 2F| JIF6[ (FTA6] @R ST €T A1 ST [ ({6 (¥F A10F
53 HFH |

10. Question: What is the synonym of ‘Competent'?

A) Circumspect
B) Discrete
C) Prudent
D) Capable



Answer: D) Capable

Explanation: Meaning: Competent - $51J&, % | Circumspect - 6% | Discrete - S|
Capable - S5 Prudent - 6511 3113, Competent 93 synonym @ Capable.

11. Question: Who is the author of 'A Farewell to Arms'?

A) H. G. Wells

B) George Orwel

C) Thomas Hardy

D) Ernest Hemingway

Answer: D) Ernest Hemingway

Explanation: < 'A Farewell to Arms' is a famous novel of Ernest Hemingway. * 'A Farewell to
Arms' - is particularly notable for its autobiographical elements

12. Question: Who is the author of 'Animal Farm'?

A) Thomas More
B) Charles Dickens
C) Boris Pasternak
D) George Orwel

Answer: D) George Orwell

Explanation: George Orwell 95 SIS 9% 2T Eric Arthur Blair. fSfer fafo= ©1ate saaze & |
Animal Farm 432 Nineteen Eighty Four & SIAS®ER 16 27T S |

13. Question: Who is the author of 'India Wins Freedom'?

A) Mahatma Gandhi

B) J. L. Nehru

C) Moulana Akram Khan

D) Abul Kalam Azad

Answer: D) Abul Kalam Azad

Explanation: India Wins Freedom' 98 g6f¥eT fafo fREE SIeeiea f{aTe (o1 MeaET g
FIAR AMSW | ©IF 5F© a1 - Abul Kalam Ghulam Muhiyuddin.



14. Question: What kind of noun is 'Cattle'?

A) Proper

B) Common
C) Material
D) Collective

Answer: D) Collective

Explanation: (¥ 5% Noun TR S¥eelY 5% 33fe, T8 TR (I ©IWaE Collective Noun
BIGHE

15. Question: What kind of noun is 'Girl'?

A) Proper

B) Material

C) Collective

D) Common

Answer: D) Common - Girl is a common noun.

Explanation: A common noun is one which is common to each member of class of persons or
things. SI¥13, (I noun (F1H 4% (4T TS I IFF T@TFF T T JIHF ©IF common noun
JE )

16. Question: What is the meaning of 'White Elephant'?

A) An elephant of white colour

B) A hoarder

C) A black marketer

D) A very coslty or troublesome possession

Answer: D) A very costly or troublesome possession

Explanation: White Elephant - something that has cost a lot of money but has no useful

purpose - 3 P& FTSF 97 a9 5| Source: Cambridge Dictionary

17. Question: "SIAEN 432 'BIfF" 1% 6 IRAT ST 2T IR (2---



A) SIS ST (A&
B) SIIEfT &1 (¥
C) (w9t BT (@

D) T ST (V&

Answer: B) SIEF &1 (3@

Explanation: SI1&s, 517, 2870 T8 SRTE 41| SR : Mg ST S 617 F1 27 957
8 T (AN AJ© 93 N FHERS TG %% el {78 fSoifee a 7 azz 7 sym TR
STENYF FHICT HeT T ©TF (ST S~ BfeH|

18. Question: 7 I (FAG?

A) 31§
B) 3
C) g
D)

Answer: B) X

Explanation: 3 (fC): - AFeNToT; - JOAT - Q1T ST I3 | [SS: Sfels TR SITSHT,
JRAT AFNG]

19. Question: SFEIF (TR FAG?

A) TRCNST
B) &R
C) Tl
D) Wiy

Answer: B) TOWR

Explanation: IR ST ©SH =7 A2 (WA & IFTNY TITF 9T B NRNES SFESA! (T
SR 21 A (AT 98 T 17 (JSTeT AT | TRCMST-R(SS 5 XT41) + (ST (91 141) AGT1R- AWl
)+ TSI X[H) IR TA(GS T F77)+ AR(GSIH T4 TIAGT- (S ST *27)+ (G T%1) TS
ST 3 1T - T TS AR

20. Question: 'FIF AGFOF (TUF-

A) SHIGTArT
B) FSEReT 25T



C) favaee I3
D) M= oy

Answer: A) SIS

Explanation: I (SRt e azeey IRt FrgifIw, MO, FfRey S s, SrEfsE 3
BB PR

21. Question: '‘ToTPT THT A TTTT© AT (FAG?

A) FET (T T, FIET STLATT
B) BT o1 &G, (631 AT I
C) @RNF &7, & Afo
D) 1718 W, T3S 1 BT

Answer: B) BT AT K], (53 11 T
Explanation: FIET (T J1N, FIET STLATT - F13 S{0el FIAS AT 0 SIT A7 {EM, (GRT AT 1 -

IO1T ST TT3 TF, O3 AT SIET - T&IF T (I ST, MEF AMo-ANSIAFH Sfe T2
ST 3 I - T2 TS AP

22. Question: B% JIF (FAG?

A) THTETS AT T TG

B) 1o Te: IS 0T TG
C) YATe SA1T JCT TGeT
D) 7SS ST FCT G

Answer: B) THTo1RTe: AT I TG

Explanation: 8% 136 2T THTOTRTE A1 IT TG "SINIRT T4 {6 "SI 1= Ffetsi| o
TS TRAT ST TS SPIE M CTF ¢’ T0T A1 T2 ST & 1T - Tz 2T P |

23. Question: &3 A I SATF I7] 23~

A) fRefe

B) 33
C) Ty
D) 81Q

Answer: D) 819



Explanation: - JF e ﬂﬁWWWWWWWWNW?‘W@ 3y, oIvd fFefe
| - T3 S A1 3 0T 1 2 ATQ | - 7% ST STHeN 141 J1 A1 IFfox a3 737 spfeq
A T TART Y& T 1P Toiy F(T1

24. Question: 'AFFF TE6I JF [w-
A) 99T+ 39

B)I®+3F9

C) 997 + AT

D) 95 + 9I%d

Answer: B) 99 + 99

Explanation: 5. S-319 37 SMFIET 19 -3 [F:97 A-FF A1 So@ NET A-F1F 27, A-F1F
6! T[HET T I& T

25. Question: (3?9 TF% *F'T'ﬂﬁ 92764 e F(EH?

A) TG TG Iq
B) f fe2 & Fa=

C) 79 79 T®
D) T 1T 9

Answer: C) 99 599 X[©

Explanation: SFT & SN-I2I6 @S % {2 fF FI%- SlFe] (TR T899 T99 26- SIS (IS
TY OQ 7a- STOIF] i@ T35 FI-7 (AT IRAT FFFT I3 |

26. Question: (19 JII6a IFH T[IAEF 9% 2@ NOF?

A) T© 5 ©© B 2T AT

B) (I I ©F (W 75 27

C) AT60® AT SEE SO GBI

D) I TESe SIS 98

Answer: B) (¥ IMEF ©F (A 459 27

Explanation: I& TITEF % 2@ NOF II6AG: AT THHIG ST 7 (AfSHS ((NFT
YIANAC@ FIS 7 TABGF TG SNF NOF F: To S ©6 IF a7 ( ThF @1 Tnfore =7 =)



27. Question: IRAF fGax ARG FTSTF IIT AJI-

A) Tt T
B)ffy

C) S[H=I w5
D) TN 5154

Answer: A) @] 35

Explanation: . a57. affGx FRe1E I3 FqaWa FIGay 51591 P (7 Sv¢o N AfermGa
FIO] IqAW FEA | JaWd T3 TATe e ARG FAeT A OF FIFS] AqI™ FEF| TN TRAT
S 8 WifRey - & (Nfa g

28. Question: "IARFAT FIIHAE NFTo TVT FIol-

A) SR
B) fami3t

C) Y
D) STCET

Answer: A) IS
Explanation: - F18 F&T 35 35 IRATGCTT STel FiF A% Ao e IRATT TRy, TA 8

TRES (FEAF TN (T HIET| - FIET 6P ITAR Swob BT b WY (38 (F S¥) AFe3IGiE
TN (ST P e ST SresTRel e |

29. Question: 'CTIF FfJeT FATIN Afbe-

A) FEOTF A1

B) ST RFAEH A
C) 3197 P 91N
D) ST J1

Answer: C) 17 SRPEF JATH
Explanation: SI5T% SR S Af6w “TRTT NR(OIT 20T T2 eI, FI-Ge1¥ SIHES “CTe
FIer Ty Mowst THMIF| T, RET - SININ Y63 AF2 47CEF

30. Question: (FT JF "HAT TG (o MY TI2W?



A) fefa? s sy

B) ST (72 ©1F ST T3
C) TS AR J1AT FIGT (ST
D) AT NOF F1& FE

Answer: B) N1 (92 STF J1T F5T

Explanation: fSfaR STER SR1-(FoT S 3T AT F18 FAE- (o AN T AT 1T F161
(STAT-SToTeTRIe ST TR (72 ©TF M7 I5T- S AT (777 A T332 ST 3 g7 - T 7178 (3w |

31. Question: @ & fAEA TS 970 TJR?

A) frje

B) S&saT
C) SR
D) fasanst

Answer: A) fae

Explanation: HTafY STNSE S@MEI- 5) B (FT6)- SR, FTEATNS, FIARH, FIFIE, S| ) 75
(5, STH)- TG, TG, T | o) F]- ATGTH, AT, ANEGH, AT, TEEF |

32. Question: IAMF SREF (@ JRBTET I0CT (B FIH'T IofTo1 (F?

A) “TRSE R
B) SIFTeT% NZ3[T
C) T e F2oe
D) ST SIS %1 (1A

Answer: A) 5[ TR

Explanation: SI9H ©REAF (& FSTHT AF0T (BF AN | TAbF T6AST ST ST (G| S
ST ST FFI0 THETG Af6 ' IFOTH ST R S0 271 S5 ¢ ST I o T2
SIS ' AF0T FAE'S At FFS 27| [T IR ST 3 MfRwy fFes™T - T (fera (134F]

33. Question: (FE6 ©%d T=?

INRREG!
B) ¥
C) 7%a
D) 51w



Answer: B) Yj}f

Explanation: (A9 @ 7 e ©FT T8I I, [F& S o3 [RI6T 4117 AFrex A
AHANO® T AYAF IR S T FE V@R, (T T4@ T 77 ©&F |

34. Question: FRTATT (FTHAT TN T IAGITF (F?

A)FREECH

B) ST S AT

C) N3] NAF S IFNETA

D) fifar e e

Answer: B) NS AP AT

Explanation: & 6% (TF (b0 ¢-5»b0) H3(FT 8 FWqAWF | TRAT ST A THT THF 3
ef57 DA FSTAR AT FEA | TRASET ATCTAAT ST FSfer ST FE |

35. Question: fa®EI @& w=AMfe ENfEF?

A) >

B) 8w

C) ®9

D) 89

Answer: B) 89 (One hundred forty-three)

Explanation: 5= x 9 x 51 $80=% X 8% X $1© 89=% X 89 A=) x © x > T 89 G & ATk 89
ST /RG] s (FIET 5223057 T 18y 771 Jok, 89 (NfTH T4

36. Question: (P AT & f3iTeT 20% TS 8 YT fFTeT 20% e T3 F=| IfM P
f&TVeTa fovsfier 46 Soo BT 27 R YBA1 T F97?

A) v80 BIFT
B) S20 BIFT
C) 538 GraT
D) 188 G131

Answer: B) Sxo BIFT

Explanation: 0% (s, f#TeTa fF33 T (Soo + 20) = 30 BRI AR, 0% 7S, Yo Aol



TS (530 + S0 97 20%) = S0 + S0 AF Y0/S00 = (30 + 38) = 188 BIFTI

37. Question: S (Y@ 8> T MU TG F67?

A)x©
B) :8.¢
C)ru.¢
D) ¢

Answer: B) :8.¢

Explanation: ST STF (FT5eT= {(SH 740 + CTF 57)x (50 52T )} /R = {(b + 8D) % 83}/X =(¢o x
83)/3 = SR " TG = (FISTHA/(G FATT =138 = 3¢

38. Question: B fodfb FE AN FI @ G131 16 I@ T T 1o Fo T T2

A) ©s%

B) ©w©%

C)wo%

D) ¢o%

Answer: B) ©9%

Explanation: oft SIeE T3 S 137 S 6 N6 FF[ S/ B1FT A1, 6 e fTmzeyes s Trar
SG NETR AT S/2 BIFT . T8 = (SR) - (5/0) = S/b BIFT 9% S/ BIFIT TS 7T /b BIFT S BIF
S 2 (5%0)/b BIFT Soo BIFT TG 27 (Sx9x500)/b BIFT = ¢o BIFT .". felF aT® ¢o%

39. Question: fags ABC a3 BE=FE=CF| AEC 17 (Fa% 8% 555 2, fags ABC 97 (Fa%e

F© TH5?

A) u8
B) Lo
C)8svw
D) 9}

Answer: B) bo

Explanation: figst AEC (s, EF = FC 933 AF %3771 .. AAEF = AAFC JIFTS, fags ABF (S, BE =
EF 93< AE S57377| .. AABE = AAEF .". AABE = AAEF = AAFC 93, AAEC = 48 = AAEF +
AAFC = 48 = AAFC + AAFC = 48 = 2.AAFC = 48 .". AAFC =24 .". AABE = AAEF = AAFC =
24 oA, AABC = AABE + AAEF + AAFC =24 + 24 + 24 =72



40. Question: a+b=5493Ra-b =33 ab 9 JH F97?

A) 2
B) 3
C)5
D) 4

Answer: B) 3

Explanation: (M3IT AR, a + b= 5 a - b= 3 ab={(a + b)/2}2 - {(a - b)/2}2 =(5/2)2 - (3/2)2 = (25/4) -
(9/4) =(25-9)/4 =16/4 =4

41. Question: Yo BT (FEIT 3 (TETTF T Ie[=e 9 : 0| P B AT Fw {7617 (&
RPN ST=me © : 9 TE?

A) 9o
B) »v
C) 0
D) vo

Answer: B) v

Explanation: (@I 3 (SETETT ATNS 9 : © IO (JT5%eT = 9 + © = So (IR
TRAT=L09F /50 =83 T (IFEF ATHIT =0T w/vo =3 FGIF &fF, F FHF (& fire @1
MANE, 83 & (Sb +F) =0 : 9 JT, 83/(Sb + F) = 9/q T, €8 + ©F = 38 T, OF = 380 F = Vo LI
42. Question: S (@ wo T FAMHG AT TAT AR?

A) ssfe

B) vfb

C) »f%

D) sof®

Answer: C) 5

Explanation: S T(® wo g FIM GIFEF TWAT=Y, ©, @, 9, 55, 59, 59, 5, 39, | S (@ o TIJ
FIM NS 2T A = Sofb

43. Question: TG TANT SIHT $C0G | T GEIF T.HLS > (T LA Fo?



A) 52
B) 38
C) o}
D) s

Answer: B) 38

Explanation: SISET Sfe, 518, x SLAN.8. = 96 AT 8% =STH1.8.. = Gf6 AT S/ 8.
SOSTLS.E S L/aY = 8y

44. Question: ST S[(7F T TOF] F© BIFT T (T (FTEAT JAT b TR -9 foF S T2

A) S3.¢o BIFT
B) 20 BIFT
C) s¢ 511
D) ¢ 5137

Answer: B) 3o 51T

Explanation: &fS, SISl P =500 BT ST A =500x0=000B13T 57 | =000-500=300B1H] J(7d X[&
r = (Soox300)/(S00x¥) =X¢%

45. Question: fofR FT7 2¢% % M3T© 9376 A B A18IT ANfASTR FAE (T fofel I=77 T57
i@ (T 1 2P AfFAE Bl 8T AT6 ToFd1 Fo FAERT|

A) 3%

B) 2¢%

C)v9o%

D) 0%

Answer: A) 3X3%

Explanation: 3¢% (&0 T = Soo + ¢ = SICBTPTI 3¢ BIFTF By AT8ATFE = $3¢ - Soo =3¢

BIT S BI31T fofa AT8TT I = 2¢/52¢ BIFT Soo GIFTT bl 18T I = (¢ x $00)/53¢ BIFT = 30 BIFT
T3, TOFAT 20% I

46. Question: fagEE 136 F17 97 IF 6 (FNEF WAN(LF SN 2 fagSio-

A) TR
B) Tt



C) a1
D) STt

Answer: C) S92

Explanation: ARy, fagEs fod (FIEE T So fEfT| sfeanr SfE (@1 >0 2T 9177 f6d 5iE »o
| SRE S W@ 3|

47. Question: SHAR AQEH I=T WH I 'a’ 7Y ©F (Fa%H A -

A) \(1/2a)2

B) V(3/2a2)

C) (3/4a2)

D) V3a2/4

Answer: C) \(3/4a2)

Explanation: 5372 fagmd I=d (7= a 3T fAesiod (Fa%e = V3a2/4

48. Question: (.1x.01x.001)/(.2x.02%.002)- 99 N $97?
A) 180

B) 1800

C) 18000

D) 1/8

Answer: D) 1/8

Explanation: (.1x.01x.001)/(.2x.02x.002) = (1x1x1)/(2x2x2) = 1/8

49. Question: I (x - 5)(a + x) =x2 - 25 3T ©F a 97 N F©?

A)-5
B)- 25
C) 25
D)5

Answer: A)-5

Explanation: (x-5)(a+x)=x2-25(x-5)(a+x)=x2-52(x-5)(a+x)=(x-5)(x+5)a+x=
x+5a=5



50. Question: a+ b + ¢ =03 a3+b3+c3 AT A F©°?

A) abc

B) 9abc
C) 6abc
D) 3abc

Answer: B) 9abc

Explanation: (W8I a(, a+b+c=0 a1 3Nfda3 +b3+c3=(a+b+c)@a2+b2+c2-ab-
bc - ca) + 3abc = 0 + 3abc = 3abc

51. Question: IR sSTITHOEFI (HFT 2J=

A) So S SR

B) 20 AT 5%
C) 5S afFe 39y
D) 59 affe v2as

Answer: A) So ST $293

Explanation: - So a3, 9% ST TS (T S FAF T IRATIE ST RO
(TN FAT 2T - 59 AfET 359 T JFIATH TTFTH T (TSI NN TSSO IRATT T
APITFSTE AHTFTT FE| - YA TIFTEH TN A S FES A 265% 9T | - YT
BRI A (e F ST NAFTH HHETTA1H AFS I TeTe eI BT FHFF 271 TS:
FHTSTR (FFTA - IRAAST

52. Question: SIISETeR! ARG N T J3f$w 27 -

A) 59 afFT S22
B) 24 M6 v299
C) a 96 $»9

D) b fETFF S2R

Answer: B) b FT6 5599

Explanation: SIF&Te sTs@os! IR SIFHT 3593 ST 8 ASF AR 3o 27 93 937
%A S FEoTHa Ao ey 39938 | -STameat IRTE0TR SR (316 S 6 Sy s -
SRIFEEF ST AT A A= S35, - SHIeT 3 9fb, - e oee 8fF, - sEar o SfE 1 Ja:
SISO R IRAICTT SIS 8 IREHT




53. Question: I &S <R ST AT TG (FTF?

A) T

B) RS
C) (FaFH
D) FEFASS

Answer: D) T35S

Explanation: SFTeTal I3 387 Tolte TSI O THSIE TS FE THIHT 5T FE |
fofel Lgw B FTS TTSHANE THISTe FEA | TSI [T TSI T J18 | T3z MR ol
ARSI (F2) - IRATGAT

54. Question: IRTATCTR (FTF1F SGHT (FIT I H0?

A) BB

B) 33T

C) T

D) CNAEs8E

Answer: A) 58T

Explanation: IR (TS 3 F1F 1 JES: - CTATFS (TP SIS TSN BIRT (N 38
fHENRGIE @ STFe FEFEAsTE (SelTd (AR5 ST FFe | - IR (NFEF T,
fR=TT 8 RTINS (THRES (AN 06 QT HJTF Tl $59¢ W Frne ™ SFefet SEarea
ST IRACTT NTFE 1T AT [ @ a2 SE Jfed1 FE |

55. Question: IR FSETNT V@A AT FTET STRCT ST AT EeA-

A) RE@SAT
B) SFSAT
C) maIfyar
D) srgfarevan

Answer: B) 8F5K]
Explanation: - sigf51s, 31 RSETIICE A& TGRSR TAH IRAR IASHA FEF | - TAR] ToFH SF

(NFR TN I Sefy GRS PG BF FE| - 38>y FATIEH AT MCT ©ICFH T ST
FIPE (TRIT PES T N IRT TGS AT TG | -



56. Question: KT FITH RN (T BT FEARETA-

A) Tl (T
B) 2fer TS M2
C) fao 3 19
D) SI<d

Answer: A) TRl (5T

Explanation: $FTER IR S SHG SNFIF SC8 W So/ss JTE IRAT 5 FIo FE 433 ©T
©IF RIS AETR (A ST FAT B 27| TIN2 FRTAGAT

57. Question: MATGIYET (A% T2 fF 717 sAffoe foee?

A) 8t fRzm

B) & fm|

C) Ssrme fazrg

D) TR f=rE

Answer: B) &3 fam@

Explanation: RIS 3T RIS (A& (I21F IT (N TR IRECTT F 35T (Sl Fuetslife
SIS SRES | AT FIE HHAT Ib>-b2S BB 4G O FEEA | ST 0T LTS 7P 43501
QG TN F3STT (SeTd TR T f{71a afed1 F&Ea|

58. Question: FRACT SIATGA STHT TISIT (5=~

A) et I

B) A&

C) (621G

D) &3

Answer: B) 1S

Explanation: (a@Ta] (S ROFTF 3 (ST, CTAR (Sl IO 110! SIS, SR (Sl

G518 3 NTOPIAIT SAGE IRGE 35O SIAPNIOH Fo© FI® | 9 ST [T (SelTd LTS,
FSRRAT 3 AfFsMET 432 78I (ST AReee ©- O [AF® Smn(® seea THe MeF FrEm|

59. Question: GBI AWy afefPe =3-



A) SB9 [T
B) Sdox HIT
C) Sdo¢ AT
D) $»3% ST

Answer: A) S 29 NI (A) 1897 ST

Explanation: - G137 [AAfIwe IRAWCTE JTblaes, NE3R8 438 SRR e J16id Pfeanat
SHRTHT 8 STEFT AFGH | - S0 W SFGIT [AHATST 2@ GIFT [TAfEImery SARTTE So3d N
S TR ARIF ARy R o f[fAme@s sET 37 23

60. Question: TIFIF 2@ OET THGW (ofF FE-

A) *TIEIIT AT

B) q3I1T NfeRygR
C) ¥ SRF WA THATS
D) fareiT smzeTw e

Answer: B) 81T S{[AR

Explanation: IRAWCTR SR GIFTH ARTAGIT-F ST ATATS O Ad50 ST 7w | 8
APE] T GIFTT SN &7 (e HF (P arzerw &) 92 Sfemft 1o FEfREa | S/ -n
AN SRS % T6feTe TP MR, TV~ (sTefrey Fwar swifow A7 fSroray wfom | spaz
dhaka.gov.bd

61. Question: MY =IGT 'INIT 3 (NI JE HB© 2=-

A) 76 SFe smes 3

S NSCECRICERICRE

C) 7t S=e e QErTT

D) 7C Sxe Ses STy

Answer: A) 7fC Se Sted 3

Explanation: SIS SF© S1e: (SIAN1TT, FTIHT, (T, SN, FIPA, AFIH, PO, AL1A! 20717 Ja
I e

62. Question: IfTIF", 'FHARIMY, 'RAIA" 8 'NoSAT F TOIT HEAT A2

A) (TTERT
B) SS&E



C) ¢sft
D) Fe1

Answer: B) Sspel

Explanation: 7 3F® Sed & A - ATIF - OIS - (NRAIA - FTARI - 6o -
BT - (TRASSIE - F319 2evfw | (A FAFT (A1632 a3 F 937 WfSw)

63. Question: FRTT BT IENTT T TS F4T T (I FET?

A) S9oo ST
B) %99 ST
C) a4¢ ST
D) 9% ST

Answer: B) 993 NI

Explanation: $3>© ST FHSIMET TN F9F 256 2T (FEN TIP3 IRATF SfeT Mferda
T WIS AFT6 T | 2 Hfed Srsery e SHfEts MBNTIR g-weifed wagT
TR 2| SSTeTIN T (Afef ST 32|

64. Question: (F1F T AL IR A (M "SI ?

A) IRF
B) SRIAE
C) aFad
D) ey

Answer: C) 91999

Explanation: - 3 (5¢@0-5¢@ ) J5T N6 IREF ¥ @ - Sewo A6 Frerd oAl et
fReTeE fufera SRRt SETReT FE| - NAG NI IRAH AN T AP FEA TSI 93
QAT AT "IN A3 HEN | SN Fike1 =S

65. Question: STNENI@ A& BT T THEET T3 B3N HEA-

A) T. TOTTET JSPIE

B) T. =W T

C) T. 9T (TS (I
D) WF 4. 9%. T2



Answer: A) 5. FEPT6T JEFTIH

Explanation: - G137 [AAfIwey IRAWCTE JTblaes, NE378 438 SRR Jdves a6l Mot
SHRFT 8 TEFT AGHA | - S0 W SRS AYATSR 21 GIFT [TARIMEAT FMRAIE So3d T
S TR SFTS RAEe RROTE T fafamye@s w85 37|

66. Question: S»>vy NEF SO AP IRAWCR (F STSET FaF T dite 3 NI?

A) T fSrarE

B) GTAW SR A0
C) AT o1

D) ISR A1a

Answer: A) SR fSFwE

Explanation: - QST A9 2E AF0 IRACTN ©FFA | - fofT 5% W 350 Y I=71=, -
SDB I I TR AFTSNS JEATEL, - S>bY T AB5T4 ST ISR S TRAT AR -
S>BY TIE w3 (FIHAEF ST Aoz s 'cooit (1Y) fersfier s |

67. Question: GIFIT LAY H(E IR O FTe 27?

A) S0 3
B) bwso &
C) Saxy fas
D) Sudo 2

Answer: B) swso f&
Explanation: GIF Y= IR IS T30 2T SbSo S| (IET TG SRIANEI SINT

AT S FETR S50 BN CIFTE JIRARATE FTSHTAT (e FT 2F | TS I 7 (Il o0&y
R

68. Question: ' itTF o177 1

A) foget &t
B) (TGa1G &t

C) Il &
D) wfSgel GIeTsIfG B

Answer: A) foger Gt



Explanation: wfSe ©1esifE Gis7 s/ 37 oS [ SRS IGTEIE A0 SIHAOF (=G
SIS SRR F57| aft so-aaea I NPT SIFE S50 AR »0 SEH FTRFA
HfATCH T RTCITSTBT THF (NRATH SE IRATCTH TGN wiZfel SrersifG st (ST 3|

69. Question: NF-a7 I TF ([T6F IAO© -

A) $>b8 ST
B) $»v9 I
C) SV Y ST
D) s>k & S

Answer: C) 52 NI

Explanation: - NT&& J NRIN{G4 feeTel IRA@CTE SN SARTH | fSfT S99 TEF S S (3@
DB TEF ¢ AR G SIFT I TS OET WINg T FE |

70. Question: ST AFSEF M (FIA6 IRTCTIE TN JPho (w72

A) 56
B) ST
C) Clifw sr=g
D) 21

Answer: A) G

Explanation: - 337& S0 ST (W1 RROTE IRACTIE FPfS (07 b SETR S»R W | - afb Ae5eesa
FFfouaIa T (77 et | - AMUE 2q 8 FTOT ARTGIE JPho (7 TATHE 298 FEH 33
®FIME 8 8 M| - G NET FFFo (T $59¢ T Sb ABFG | TS TTAE NFNAFT STINN20 |

71. Question: f¥993-97 Yug wga-

A) foofas
B) JF@I
C) @

D) ffeifaer

Answer: C) (T3
Explanation: G614 [ARIET SAREHET (FTaT8) FA(b S8 STE AF 6 F&I ey

TR O ST Jf6fPwe 2J1 Soo AT @& (W 93 TSI (efABfama MITsTe Sfefasy Rea
AT FE 8 97 ST FHIANOP T ToT (|



72. Question: SfONET IYT FNHT fRE@wd-

A) T B

B) 36 SATRRA
C) WISt TS
D) f&srafer

Answer: B) 3 SISRIN

Explanation: STosRET T3 N6 e 7983 {Fowedz| fofd (TIE L2584 (I JeFd
S (I SSTRET FTHGET WIiNg N FE | FoIT TS ool wst IREens | fefa
SRIGEE SIS e |

73. Question: &aTTeT AfFT@E 9NT A IR Sfo5eaT feel-

A) ffersmis
B) YENG
C) 2T
D) ST

Answer: C) 3@3T

Explanation: STes:@a foaT=raT Af==ma Sradt syusty fReTE IR 73 fdifoe 27, 235"
ST TS FE S»ID-SdBo WET 432 fFSIFIF 2000-300S WET| YAz IRAHGT

74. Question: SIHTH AfFIF foTfere AT BF 23~

A) CTBFF MR 59 5T

B) (T6aF MIF J¥ (NI

e G ER CERFGREREIE]

D) CTC6TA WA BoIX FoFTH

Answer: B) (06T MOIF I (THFE

Explanation: - STTOS:ES SIS SEAGATE F o] ST *f{77| - afeqwe sa=er sfawme fa3fire

AT BF W (LA NI DO MR | - SR 9Ff6 (77 N1 ¢ & AfSffEy srone
M| - [FF 936 (7 8Y 956 (16 fire N1 T3z TSTRET SHINRG|

75. Question: ISATE MNfOTETT TG H2T-



A) SaY
B) 3¢9
C) 5@
D) s2v

Answer: D) 9

Explanation: STSTET TEINE F0 27 Sd© B FHCTT ST0sts wfdper Ui (58 TETR 305Y) |
SIS I TS G 2161 TAT: SGFI 6 97 Hfeif@e| SrRSI Y& e 5775y
il IO (@21 FCIST T J(Z TES o T J7 97 0 97| (a2 FRY SFINR6)

76. Question: 3N YR N3 NI T Fo-

A) faam
B) &

C) WIeTS
D) (VT

Answer: A) faam

Explanation: - 5> W ¢ (THFT NF@IF IO TE@ 2NN STEHT 73T (3903f) Ffefde
Y| - 97 Y9auF (M NEEI ST | - SR T (7 €9 o1 - IRTT $98 JTET TRIF NEHAE
SR TG e FE| - SARMNT AT ST ofo | TAT: AA(F, 1@ a2 FAM|

77. Question: (T (W AGANR ASTHT FTOT T2 FEA-

A) faGa
B) T
C) AT
D) I&918

Answer: D) J&A18

Explanation: Strategic Defense Initiative (SDI), byname Star Wars, proposed U.S. strategic
defensive system against potential nuclear attacks—as originally conceived, from the Soviet
Union. The SDI was first proposed by President Ronald Reagan in a nationwide television
address on March 23, 1983.

78. Question: fAGEEF TINAF I9g WII@ JT 23~



A) 8% i o anE
B) 7 &S
C) M 516
D) (RA3G 2

Answer: B) 37 2185
Explanation: - fSGEE MNAS T wFSE I 27 (ATR6 I - TSAES (AP T

NG (ARG S - (36T AR TSI 'ANFHIH T - TGS FHATIE TSNS
ISIT 3 FHAET A So T TIGfR fFFH’ [S35: fFo1aaT]

79. Question: A8 N=Rw S SATHFT FE

A) 5283 ST F(SFF A
B) S8 NETH (I NG
C) S»8¢ ST AfFeT Y

D) $»8¢ NIF (6T J0T

Answer: D) $58¢ N (C6IF AT

Explanation: - FIGR ﬁl‘ﬂ%@@"ﬂ S CTOBET L0 NI - ST SRS FE b (3, S»8C NI |
-BR b (7 fSBF 3 3S@T (T Mfere TF| - SATT AT T (T (WF S8 JAST6, S8 A -
BN AT FE@ X (TEBTF, $28¢ M| T B6fH. T M JfdF Tad ] AT o FaT
AR

80. Question: FTNE WA T (¥ [T A TCRF HFFI A-

A) IR,

B) ¥R
C)
D) "% <

Answer: D) *mf&< a1

Explanation: FBE A e (3@ & FAIT ORI [T T 91 MfEF P11 (SENF 03
I Nafere o1 Fom1 R SN TN ST FEN| T FITHT S > Yo S AT FO ¢
TREF (FARTI SANET T (N 3 T FATo] 7S FE| TSz www.history.com

81. Question: REFEIT 967 QT (HeTT A=

A) S>88 SITETF ASTH AT



B) $»8¢ ST (F I
C) $»88 NIEF (6T AT
D) $>8¢ SR SASFH AT

Answer: B) 8¢ NS (1 A

Explanation: 8¢ NTETH LR IS5 NHIE JGANEH [ J1MRAT S R 2@ 8577 forbet
TI N AGH T @R (BT AR 97 o e 7 ANE @S 85T BI6 M AT ANTH(6 (T |
T35 www. history.com

82. Question: ARIANIH-17 Y4 73T (FI?

A) o2 Td
B) NCH

C) 75

D) REIRNE]

Answer: D) 8TIbd

Explanation: - SIeE&T Aemfie IfeS= ARa%a% (IMF- International Monetary Fund) | - af6
ASfEe T 33 TFR 288 W | - 97 STuawgd JSANEA STPREA @ | - TSN 50Ty (77 205 |
TS5 ARIANAZHT SFITNRG |

83. Question: FFFISTA (T FRAWRTH JTATZ THYT FE ©IF -

INESIED|
B) STIfGa5T
C) G
D) 38T

Answer: A) 35{aGT

Explanation: 7518 et ¥ J@an® AfFpi1fre 8 srqefie T3t fFmdt (St 1 v555 (@
$DD0-3F TIFH (TR fIF AFTHISTR TSI A5 NAFTEF FAGol9F Aiere] S [AST
FE 3T foe| B3z Encyclopedia Britannica

84. Question: "IAET G WA (F1 (0T A0 ?

A) 2T

B) fifaa
C) frma



D) 21
Answer: A) 2399
Explanation: FRE@S 75 S A7 IS AN 2N 26 67 TR Ol 67 F Yoo A fafie

2| A6 (FIBTESE TR (TF afG fsf1er I | 2T (e Fa71 23 77T 9% &, I3 SiFed
feT woo FSHL| T fAGIT|

85. Question: 3SR fFATT® BT 573t (FIAI?

INE© Gl
B) o1
C) st

D) g%

Answer: C) faI¥ (Greece)

Explanation: - RETES NI Ife o2 f{2TTe T F51 TOTT QAT Soa- A eAFETa
ETEAF TNF T FIFe | - ST To@g Ho I FT age1Se FZNF Felt 972 S Jgeifud
(RS FFET TG ST F5739 TR 9o I 58T 27| - FIFma 71aT BT J573t 58 2|

86. Question: FIFARST A& TIHF A6 SHRAT J(AT-

A) TENALF SeTIfer
B) G I3

C) J@T GFT

D) s

Answer: A) STENEF STeT1fer

Explanation: FIE1ST <& T FIINEST S R A7 <1, I qq91F 1 IEE FIRE FA7
| RN S T SYHT 0 7@ I 71 (I, e, I Fenfvr| G (ISE 7 A
EIE [IF FA I 1, (TSR TSI *F | (T2 (O, ST 2ev1|

87. Question: (SF FFIE T1HT ©IGTOIG 2T FIF-

A) T S5 ©T TF BI7S FIE 1T
B) % "M@ ©I7 NIHF® 27

C) SIf#® 1T ©T IT TRIF
D) SEEICT ST e Jfa T



Answer: A) 19T S5 ©TT 97 B3 FIS 10T

Explanation: (35TH $3E F1] SIGTOIG 3 FIR, FINER (SOES el o8 AT3F I Ao
IR TRE A A N B SHHT OIETT SHoakF J(an | 0@ IS ©IF Y 7@ T 27
CIGTSIG | S35 FIA-T (A - T w1 32|

88. Question: (F &G T IR TIF SN Jef 58 FAT IH (IS RCTT-

A) T, Te[9, et

B) VT, I, (IS

C) ¥, N5, A

D) =11, e, 73S

Answer: C) xw, ¥, I

Explanation: foafG (Tfe 72 20 a7, i, F9311 a2 ofb 2 97 T 1! R ST (o F7 I |
T fabIfaT

89. Question: (ONETFIFSIF SFTTH ([ FEF @6 IRTOCTE SF I A= T 2ET-
A) ST FETEAT

B) J@SeF B (T2

C) WFa>Iie (1

D) FFLXI (F2T

Answer: C) SFI®1& (T

Explanation: IR B5F 3T FTAHIH JT FIo2116 (FNF ST A58 | TG Y0° TGF INHEAT
FFEPIS @ A Ao - af6 IRTIWCT 775 77 N7 Feve1s vy Ao FE®| -
90. Question: % ARG (-

A) ST S =TT THF NF QT

B) =fate AHE 3 IRETE [EE FEF

C) =HFIF S AT IO 2

D) =ifaid s Gige Ao 2(©

Answer: B) =fate AfHG 3 2RO [{EFE &

Explanation: 3% FEdTE WRIES Mo 49ew AHET 524 FE (&6 |



91. Question: FHTF [FCISIEF FTA (T SAMES el © J(T-

A) feBifre "o’
B) febifsa 57
C) FEI™
D) (*Tiz

Answer: A) SIS 'a' (Vitamin A)

Explanation: ST 3o S35: T, foe, STova, Hedf, e, FRAF, T 1, BT
ReTIU | (/AT Sfe™ TS5 FABIR AT, FGIF, [ 161, GIAF, FI6T Fe1, BT, 5T, IT
Renfl

92. Question: ST SRME EIETC ROTE A-

A) TF W8 8 T¥EF TS

B) ©I1F e 3 W3 Mo
C) OVE 4% 38 uI1F (167
D) FF WS 8 WIIF (6T

Answer: B) OF Mo 3 WA T
Explanation: SIS SROTCT AEFETS ROTE F1H 75 3 W1 (67 A | 97 3% (@125 ate eae

EIENGT FHIA (18 I F7 2T, 97 T@6 B0 3EFETS (@EI6S BNE F19 FE, SO0
FEFEIG 3 AN @ FVST FE BIF FIT I AT ST FIH-TH (A - TN IR 2|

93. Question: & fAgE T (F74 (@ S AT AT AT 2ROTHS T FHAH FI-

A) TISHH@T (BTE6S NI A2 FAT T
B) 1@ 30T TS TIOIT (S5 IO ATF
C) S famys o= *NeAT 1T

D) ate fAqyes =6y 3 27

Answer: D) at® 355(\95 T P Y
Explanation: (975{6% ST (18 AF | I BT {58 FTT U118 3@ fAqps TG A fore g @

TT6T 2T | HE 77% T8 @R I @1 o (@ 7| A5 @ A58 T3 wd (F4 200 {58 [ o
2 TRMOICHS IRNT FAT 2T | T2 FIH-7 (4 - ol [FTewe 32|

94. Question: FF &Tg PO SAM (Tl



A) o1 8 o
B) &1 8 S
C) ©1T 8 foaeet
D) ST 8 W3I

Answer: C) OTT 3 foli@el

Explanation: « 42 31 STe18%F §TQ TE™1E@F S 0T (T 5578 J7 AN {3721l T 57 I (12 Foa
§Toq TaR((@ P 419 IET| « (IF- FIST JT (F18 2 I 3 fOa 37 4191 « fFree 26T e 38
wIF (F57%) I 4@ | » FF A PO L% ST AT W% w31 Biffe M| TF: FI7-773 (A -
T 8 2

95. Question: IFWF (RN & (O TR9T F(I-

A) ATRET AT 8 FIHT TRAHRS
B) WIfHGH 8 (eF AT

C) 3T 8 FE&

D) JIfHE 3 FES

Answer: B) IIfH@ 3 A& AN

Explanation: (& RO SIfHE TR 200 (FIE 97 @ AT FHE18 5303 (@ Jf{71ze
2| T TTIONG (TREH T2 FE (@ | T3z 9% (A w1 33|

96. Question: T FFF HET AN fRBFE S 1=

A) T2 IEF T

B) RS 57 AR SNTOEH Ty

C) S P51 A1 Srefy

D) EFTFHT I Fely

Answer: B) SREHF NG IR ARSE ¥y

Explanation: sR&t ¥afFe@ s i@ b1 RS w3fFe@ fawd e @ a1 IER @1e g
SRR o a1 51 fAea i@ =G 432 W3y JREF I (7T N, 6@ I 7| a552 AAT
Mow® QG @O =, @ (SO A1fF q71 ST FI7-777 (f - = s 33|

97. Question: AT (@& AT SINfe 73-
A) (TETeTETT



B) ST

C) aFfes s

D) I1ITsnT

Answer: A) (STEIfEITY

Explanation: SI3T% SN 2 9F SFTF T JT @ STRA =], Jour 23" SIFEF S S
FOH T2 H&@ NG A6 5117 57T 2 Frenfel (ofF 271 NEFIS Yo e F=a|

98. Question: (6% FoF AN IF(C JAG T, T~
A) o171 e @ TfHF e FRES 3@

B) ©1 f&@ ©fs Mfe@ FmiEe 3@
C) IMHF e@ ©fss Te@ IR FE
D) ©f&s *fe@ NEF e FIBHEe FE

Answer: B) O If&(@ &S Te@ FRHEe FE

Explanation: T5fe® (N6 2T A%« 456 (FP1 432 T[57°3, IF AN @pfes e NS e
TNV 2| (TATEG A7 AHf6 I JT IR I TR IHS M@ @ies Moo FIHEs 23|
T35z qA-71 (e - soref frearet 33|

99. Question: (T Y IR THETT AP F(© [FHEIT APETH U FANX© 2T, ©IF I 2~

A) ITTF Y,
B) S&y%a Iy

C) Gyt I
D) fame Ty

Answer: A) 913« 17

Explanation: (¥ I NJW12 TEET A% 200 (61T I i@ F3Re 27, O e I IE 1 6
IR S AR ToIFA I | IREF IO TN (T 1Y FANRS 2 ©IF TPH A T TS AT 77
(T ST (16 3

100. Question: TS &gn T2 ©N© TEF, FIF-

A) 9T @ (R T

B) ATH el S F AT

C) a7 *Nfate ow

D) aTiE FCS @S I FHA! ATE



Answer: C) 987 *Nfat® 3 (They are born in water)

Explanation: FRISTAT WR SIEFRT &6 SRR IS HIM| AT IS @F IFFYE @ | ©1F 977
S0 Moo ST S8 : SifIeeE, FIH-717 (f |



